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#1 [SPIFR] BEHBREEE

e o | LRBRBEZBRER | 2w | 2hs | LRAR | 2 kil | AT EABER | akan| amE
o A a3 G| k) | ek | arE Bt o A
FHEHA 84 84 49 35 50 24 14 8 6 16. 7%
Hiffi (A 5 5 4 1 5 4 2 2 0 40. 0%
Hofli (R&R) 8 8 5 3 6 4 1 1 25. 0%
e 7 7 0 7 5 4 1 0 1 14. 3%
PRl (RRBRE) 0 0 0 0 0 0 0 0 0 -
&t 104 104 58 46 66 36 19 11 8
#2 [—FRN] BKARERE
o o | LRRBEBRER | 20w | 20 | 1RAR | 2 kil | AT EARER | okan| amEn :
i i I )| G0 | | A A Gy | o | B
HHE 122 85 45 40 33 - 17 9 8 20. 0%
Bl (£A) 4 3 2 1 3 - 1 0 1 33. 3%
Heflr (FER) 0 0 0 0 0 - 0 0 0 -
el %1 4= 55 35 34 1 11 - 7 7 0 20. 0%
wE L 39 38 1 37 25 - 19 1 18 50. 0%
BEL (RERE) 6 6 0 6 3 - 3 0 3 50. 0%
226 167 82 85 75 0 47 17 30
#3 [BEEXNR] BEREBROKE
. e | 1 RBRBZBRER | T | T | 1 kekE | 2 ik | BUH TIES KB | et | ata :
oA A H e ) () | ek | oE at | () | A
ERUA 26 24 11 13 8 - 4 1 3 16. 7%
X 26 24 11 13 8 0 4 1 3
#4 [RRCERREEXNS] BRERSWKE
. e | 1R BRER | Tk | 2w | 1 kiR | 2 kil | RATEAREL | o | atan :
ik AR K At )| (o | ek | e aH @ | | BHEE
Y (ITE) 45 45 32 13 14 7 5 3 2 11. 1%
=5 GE%) 0 0 0 0 - - - - - -
£ G 1 1 1 0 0 - - - - -
B (LA 1 1 1 0 0 - - - - -
Hffr (&) 1 1 1 0 1 0 - - - -
Hffe (B - XD 1 1 1 0 1 - - - - -
&t 49 49 36 13 16 7 5 3 2
#5 [HER] BEABRSKE
" ey | 1 RBBSZBREE | 208 | Z0EK | 1 KRR | 2 5B | RATEAKRES | ona | akEi :
i TR T g O | oo |ekws | cmEr| e G| | EHR
LR 7 7 2 5 5 3 2 0 2 28. 6%
ZHIER 20 20 19 1 6 3 1 1 0 5. 0%
X 27 27 21 6 11 6 1 2




